powerment of Chattingach

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: N/7/3952/2/7/82287

Sanction Date: 26/01/2018

Applications Type: Fresh

Application ID Student Name	Gender	Course	Туре	No. of Mosth	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
188305 NEHA NAGWANSHI -	Female	M. Sc./Chemistry/I	Fresh	8	530	4240	0	3836	3836	8076
596896 ANJNA XALXO +	Female	M. Sc./Chemistry/I	Fresh	8	530	4240	0	3836	3836	8076
1317981 BIPIN MUKESH TOPPO	Male	B, Sc./Science/I	Fresh	10	300	3000	0	2086	2086	5086
1321211 SUNITA MANJHI	Female	B. A./Arts/I	Fresh	10	300	3000	0	2046	2046	5046
1321739 MAMTA MURUM	Female	B. A./Arts/I	Fresh	10	300	3000	0	2046	2046	5046
1326915 CHANDAN RAM	Male	B. A./Arts/I	Fresh	10	300	3000	0	2046	2046	5046
1327004 SATYAJEET SINGH	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1986	1986	4986
1327245 JEBRIAL KHES	Male	B. A./Arts/I	Fresh	10	300	3000	0	2046	2046	5046
1327845 VISHWAS TOPPO	Male	B. A./Arts/I	Fresh	10	300	3000	0	2046	2046	5046
1337985 SANDEEP EKKA	Male	B. Sc./Science/I	Fresh	10	300	3000	0	2086	2086	5086
1339995 MALA KUJUR	Female	B, A./Arts/I	Fresh	10	300	3000	0	2046	2046	5046
1341533 KRANTEE KHES	Female	B. A./Arts/I	Fresh	10	300	3000	0	2046	2046	5046
1341566 BUDHESWAR PAIKRA	Male	B. Sc./Science/I	Fresh	10	300	3000	0	2086	2086	5086
1341749 ARKESH THITHIYO	Male	B. A./Arts/I	Fresh	10	300	3000	0	2046	2046	5046
1347064 SANDEEP KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	2046	2046	474
1355705 JOSEPH RAM	Male	B. A./Arts/I	Fresh	10	300	3000	0	2046	2046	5 504
1367047 PREM SAI EKKA	Male	B. A./Arts/I	Fresh	10	300	3000) 0	2046	2046	504

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Balsem fur Date: 10-02-2018

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18

19267

State: Government of Chhattisgarh

Sanction Number: N/7/3952/2/7/82287

Sanction Date: 26/01/2018

Applications Type: Fresh

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1747960 M	UNNI TOPPO	Female	B. A./Arts/I	Fresh	10	300	3000	0	2046	2046	5046
		Female	B. A./Arts/I	Fresh	10	300	3000	0	2046	2046	5046
	AYTRI KUMARI		B. Com./Commerce/I	Fresh	10	300	3000	0	2046	2046	5046
	IRANJAN KISPOTTA	Male		Fresh	10	300	3000	0	2046	2046	5046
1374021 R	AMAWATAR RAM	Male	B. A./Arts/I		10	300	3000		2046	2046	5046
1376716 S	ARWANTI SINGH	Female	B. A./Arts/I	Fresh		300			2046	2046	5046
1380284 B	ANSDEV SORTIYA	Male	B. A./Arts/I	Fresh	10					2046	5046
1381885 S	EKHAR KHESS	Male	B. A./Arts/I	Fresh	10	300					
1384724 M	MANITA SINGH	Female	B. A./Arts/I	Fresh	10	300		1111			
1391946 S	HIV KUMAR DHURVE	Male	B. A./Arts/I	Fresh	10	300			- v		
1393521 P	PARATH RAM	Male	B. A./Arts/I	Fresh	10	300					
1402081 P	POOJA KUJUR	Female	B. Sc./Science/I	Fresh	10	300	3000	0	2086		
	AXMAN RAM	Male	B. A./Arts/I	Fresh	10	300	3000) C	2046		
	RAHUL TIGGA	Male	B. Sc./Science/I	Fresh	9	300	2700) (2086	2086	
	DEEPIKA KUMARI	Female	B. A./Arts/I	Fresh	10	300	3000) (2046	2046	
	ANITA LAKRA	Female	M. A./Hindi/I	Fresh	8	530	4240) (3796	3796	803
		Female	B. Sc./Science/I	Fresh	9	300	270) (2086	208	5 478
	KUMARI PRIYANKA TOPPO		B. Sc./Science/I	Fresh	10	300	300	0	2086	208	5 508
	YASHODA NAGVANSI	Female		Fresh	10	300	300	0 (0 2086	208	508
1435797	SUGANTI SINGH	Female	B. Sc./Science/I	116311	10				1		

Declaration:

Place: Ballampin-

(Signature & Seal of Head of the Institution)
Name (Capital Leters)

This Sanction is generated by Scholarship Portal. Printed on 2/2/201

NIC

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: N/7/3952/2/7/82287

Sanction Date: 26/01/2018

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1422682 RI	UPA SINGH	Female	B. Sc./Science/I	Fresh	10	300	3000	0	2086	2086	508
1413903 PI	RAMILA XALXO	Female	B. A./Arts/I	Fresh	9	300	2700	0	2046	2046	474
1414055 SI	UNDARMATI TIRKEY	Female	B. A./Arts/I	Fresh	9	300	2700	0	2046	2046	474
						Total :	116220	0	83378	83378	19959

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seal of Head of the Institution)

जिला- बलरामपर (छ ग

Government of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: R/7/3952/2/7/82285

Sanction Date: 26/01/2018

Applications Type: Renewal

plication ID	Academic Year: 2017 - 16 Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	other Fee	Total Fee	Total Amount
plication to	THE THE RESIDENCE		MOTORINE	Den augl	9	300	2700	0	1986	1986	468
185554 (GEETA SINGH	Female	B. A./Arts/III	Renewal	9	300	2700	0	1986	1986	468
528113 /	ARTI KIRAN LAKRA	Female	B. A./Arts/III	Renewal		300	2700	0	2046	2046	474
553978	JEEVAN JYOTI BAXLA	Female	B. Sc./Science/II	Renewal	9	300	2700		1986	1986	468
	AMRITA PAINKRA	Female	B. A./Arts/II	Renewal	9		2700		2046	2046	474
	Basant Kumar Singh	Male	B. Sc./Science/III	Renewal	9	300	2700		1986	1986	468
	Shashikala Singh	Female	B. A./Arts/III	Renewal	9	300			2046		474
	Umesh Kumar	Male	B. Sc./Science/II	Renewal	9	300	2700		1986		468
	AMIT SINGH	Male	B. A./Arts/II	Renewal	9	300			2046		
	JAGMANI LAKRA	Female	B. Sc./Science/II	Renewal	9	300			1986		
	NEHA XALXO	Female	B. A./Arts/II	Renewal	9	300			1986		
	DINANATH THITHIYO	Male	B. A./Arts/II	Renewal	9	300			1986		
		Female	B. A./Arts/II	Renewal	9	300					
	KUSUM TIRKEY	Female	B. A./Arts/III	Renewal	9	300	270		1986		
	SONIYA SINGH	Female	B. Sc./Science/II	Renewal	9	300	270		2040		
	ASHA PAIKRA	Male	B. A./Arts/II	Renewal	9	300	270	0 0	198		
	VINDU KUMAR		B. A./Arts/III	Renewal	9	30	270	0 0	198		
	SAPNARANI EKKA	Female		Renewal	9	30	0 270	00 0	204	6 204	6 4
1297300) kiran singh	Female	B. Sc./Science/II	1,01.0.14							

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accept any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of Head of the Institution)

Place: Bolsompur Date: 10/02/18

बाला- बलगमपर (इंड ग्)

Sovernment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: R/7/3952/2/7/82285

Sanction Date: 26/01/2018

Applications Type: Renewal

plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1297526	SONAM PANNA	Female	B. A./Arts/II	Renewal	10	300	3000	0	1986	1986	4986
	SAMEER MINJ	Male	B. A./Arts/II	Renewal	8	300	2400	0	1986	1986	4386
1298128	ASRITA KASHI	Female	B. A./Arts/II	Renewal	8	300	2400	0	1986	1986	4386
	DURGAWATI SINGH	Female	B. A./Arts/II	Renewal	9	300	2700	0	1986	1986	4686
	ANNAPURNA SINGH	Female	B. Sc./Science/II	Renewal	9	300	2700	0	2046	2046	4746
1302285	PRAMITA KHAIRWAR	Female	B. A./Arts/II	Renewal	9	300	2700	0	1986	1986	4686
	GEETA PANNA	Female	B. A./Arts/II	Renewal	9	300	2700	0	1986	1986	4686
1461503	AMARDIP KUMAR KUJUR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1986	1986	4686
1460835	KUMARI SANDHYA PRATIMA KERKETTA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1986	1986	4680
1456880	KUMARI BIJANTI EKKA	Female	B. A./Arts/II	Renewal	9	300	2700	0	1986	1986	468
1408857	POONAM EKKA	Female	B. A./Arts/II	Renewal	9	300	2700	0	1986	1986	468
	RUPA SINGH	Female	B. A./Arts/II	Renewal	10	300	3000	0	1986	1986	498
	KRISHNA KUMAR	Male	B. A./Arts/III	Renewal	8	300	2400	C	1986	1986	438
1372306	ASRITA PAIKRA	Female	B. A./Arts/II	Renewal	9	300	2700	C	1986	1986	468
	BINDU KUMARI	Female	B. A./Arts/II	Renewal	10	300	3000		1986	1986	498
	SUSHMA TIGGA	Female	B. Sc./Science/II	Renewal	9	300	2700) (2046	2046	474
	PANKAJ KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700) (1986	1986	468

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seal of Head of the Institution)

This Sanction is generated by Scholarship Portal. Printed on 2/2/2018

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: R/7/3952/2/7/82285

Sanction Date : 26/01/2018

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1307254 9	SUCHITA XAXA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1986	1986	4686
1307271 5	SEEMA SINGH	Female	B. A./Arts/II	Renewal	10	300	3000	0	1986	1986	4986
1317189 F	PRIYANKA LAKRA	Female	B. Sc./Science/II	Renewal	9	300	2700	0	2046	2046	4746
1321176 l	UMAPATI MINJ	Female	B. A./Arts/III	Renewal	9	300	2700	0	1986	1986	4686
1326629 1	LILLY KOPRA	Female	B. A./Arts/II	Renewal	9	300	2700	0	1986	1986	4686
1364721	AMARDEEP GIDDH	Male	B. A./Arts/II	Renewal	9	300	2700	0	1986	1986	4686
1366083	MUNIKA KER KETTA	Female	B. Sc./Science/II	Renewal	9	300	2700	0	2046	2046	474
1410837	ASHISHTA KUJUR	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	2046	2046	474
						Total :	113700	0	84072	84072	19777

Declaration:

Place: Ballampu y

(Signature & Seel of Head of the Institution)
Name (Capital Leters)

जिला- बलरामपुर (छ. ग.)

Covernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18

82297

State: Government of Chhattisgarh

Sanction Number: N/7/3952/3/10/82297

Sanction Date: 26/01/2018

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1107013 601	NTVA VADAV	Female	M. Sc./Chemistry/I	Fresh	8	115	920	0	3836	3836	4756
	NIYA YADAV	Female	M. Sc./Chemistry/I	Fresh	8	100	800	0	3796	3796	4596
	nam kumari			Fresh	10	70	700	0	2046	2046	2746
	RWATI YADAV	Female	B. A./Arts/I	Fresh	10	70	700	0	2046	2046	2746
1333016 PO	OJA GUPTA	Female	B. A./Arts/I			55	550	135	2086	2221	2771
1327513 RA	JENDRA KUMAR YADAV	Male	B. Sc./Science/I	Fresh	10		700	0	2046	2046	2746
1327113 SA	NDHYA RANI	Female	B. A./Arts/I	Fresh	10	70				2161	
1336516 UP	ENDRA RAJAK	Male	B. A./Arts/I	Fresh	6	55	330	115	2046		
1336661 MA	ANISHA YADAV	Female	B. Sc./Science/I	Fresh	9	70	630	0		2086	
	HUSHEE PRAJAPATI	Female	B. A./Arts/I	Fresh	10	70	700	0	2046	2046	
	JPRIYA SONI	Female	B. A./Arts/I	Fresh	10	70	700	0	2046	2046	
	VADAY ULIA	Female	B. A./Arts/I	Fresh	10	70	700	0	2046	2046	2746
		Male	B. A./Arts/I	Fresh	10	55	550	115	2046	2161	2711
	RADEEP KUMAR YADAV	Male	B. Sc./Science/I	Fresh	10	55	550	135	2086	2221	2771
	HURV KUMAR YADAV			Fresh	10	70	700	0	2086	2086	2786
	AMTA YADAV	Female	B. Sc./Science/I		10	70		0	2086	2086	2786
1362243 V	ANSHIKA SONI	Female	B. Sc./Science/I	Fresh						2161	2711
1375473 D	ILIP YADAV	Male	B. A./Arts/I	Fresh	10	55					
1375748 R	AM BHAJAN RAHI	Male	B. A./Arts/I	Fresh	10	55	550	115	2040	2101	272

Declaration:

Place: Rollers of

(Signature & Seal of Head of the Institution)

जिला- बलसमपुर (छ. ग.)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18

02297

State: Government of Chhattisgarh

Sanction Number: N/7/3952/3/10/82297

Sanction Date: 26/01/2018

Applications Type: Fresh

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1380315 VIKESH GUPTA	Male	B. A./Arts/I	Fresh	10	55	550	115	2046	2161	2711
1380479 MANJU YADAV	Female	B. A./Arts/I	Fresh	10	70	700	0	2046	2046	2746
1390732 ANIL KUMAR GUPTA	Male	B. Sc./Science/I	Fresh	10	55	550	135	2086	2221	2771
1391464 MUKESH KUMAR GUPTA	Male	B. Sc./Science/I	Fresh	10	55	550	135	2086	2221	2771
1392682 VINOD KUMAR YADAV	Male	B. A./Arts/I	Fresh	10	55	550	115	2046	2161	2711
1407167 SHWETA KANT RAHI	Female	B. Sc./Science/I	Fresh	8	70	560	0	2086	2086	2646
1409160 ANURADHA GUPTA	Female	B. A./Arts/I	Fresh	8	70	560	0	2046	2046	2606
1414510 SANGEET GUPTA	Female	B. A./Arts/I	Fresh	9	70	630	0	2046	2046	2676
1414512 UGESH KUMAR GUPTA	Male	B. Com./Commerce/I	Fresh	10	55	550	115	2046	2161	271:
1414943 SAURABH JAISWAL	Male	B. Sc./Science/I	Fresh	10	55	550	135	2086	2221	277
1437118 ANITA GUPTA	Female	B. A./Arts/I	Fresh	10	70	700	0	2046	2046	274
1441458 SIKANDAR VISHWAKARMA	Male	B. Sc./Science/I	Fresh	10	55	550	135	2086	2221	277
1442125 NAR SINGH MAHANT	Male	B. A./Arts/I	Fresh	10	55	550	115	2046	2161	271
1448922 HIRALAL YADAV	Male	B. A./Arts/I	Fresh	10	55	550	115	2046	2161	271
1457625 NITISH KUMAR THAKUR	Male	B. A./Arts/I	Fresh	9	55	495	115	2046	2161	265
					Total :	19625	1960	69412	71372	9099

Declaration:

Place :

ate: 10/02/12

(Signature & Sear of Head of the Institution)

शासकाय नवीन महाविधालय बलएम्

Sovernment of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: R/7/3952/3/10/82296

Sanction Date: 26/01/2018

Applications Type: Renewal

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tultion Fee	Other Fee	Total Fee	Total Amount
	CHELINA CHARAS CURTA	Female	B. Sc./Science/II	Renewal	9	85	765	0	2046	2046	2811
	SUSHMA SWARAJ GUPTA			Renewal	10	70	700	135	2046	2181	2881
1156008	SATYAM GUPTA	Male	B. Sc./Science/III		9	85	765	0	1986	1986	2751
1161847	MUNIYA PURI	Female,	B. A./Arts/III	Renewal			630		1986	2101	2731
1168334	JANNAT ANSARI	Male	B. A./Arts/III	Renewal	9	70			2046	2046	2811
1169209	POOJA JAISWAL	Female ,	B. Sc./Science/III	Renewal	9	85	765				
	SHARDA YADAV	Female.	B. A./Arts/II	Renewal	9	85	765	0		1986	
	JYOTI GUPTA	Female [*]	B. A./Arts/II	Renewal	9	85	765	0	1986	1986	
	ROHIT KUMAR GUPTA	Male	B. A./Arts/II	Renewal	10	70	700	115	1986	2101	
		Male	B. A./Arts/II	Renewal	10	70	700	115	1986	2101	280
	DEEPAK KUMAR SONI		B. Sc./Science/II	Renewal	7	85	595	5 0	2046	2046	264:
	SUMIT GUPTA	Female.		Renewal	9	70	630	115	1986	2101	273:
1285871	MAHENDRA KUMAR RAJAK	Male	B. A./Arts/II		9	85		5 0	2046	2046	281
1296096	RUPA YADAV	Female ,	B. Sc./Science/II	Renewal		85			1986	1986	266
1304487	ANAMIKA DAS	Female 7	B. A./Arts/II	Renewal	8						
1308519	VINOD YADAV	Male	B. A./Arts/II	Renewal	9	70					
	SARWAN KUMAR THAKUR	Male	B. A./Arts/III	Renewal	9	70	63				
	5 MANOJ KUMAR	Male	B. A./Arts/II	Renewal	9	70	63	0 115	1986		
	9 MITHLA DAS	Female	B. Sc./Science/III	Renewal	9	85	76	5 (2046	2046	5 281

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Name (Capital Leters):

This Sanction is generated by Scholarship Portal. Printed on 2/2/201

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: R/7/3952/3/10/82296

Sanction Date: 26/01/2018

Applications Type: Renewal

pplication ID S	tudent Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
ADSTRACT CANTALK	MAADT KUCHWAHA	Female	B, Sc./Science/II	Renewal	9	85	765	0	2046	2046	28
1352466 SANJU KU		Female	B. A./Arts/II	Renewal	9	85	765	0	1986	1986	27
1354973 MAYA GU			B. A./Arts/II	Renewal	9	70	630	115	1986	2101	27:
1376047 KUSH KU		Male	B. A./Arts/II	Renewal	9	85	765	0	1986	1986	27
1355184 RADHIKA		Female		Renewal	8	85	680	0	1986	1986	26
1432033 PRIYA G		Female	B. A./Arts/II	Renewal	9	85			2046	2046	28
1429191 POOJA G	SUPTA	Female	B. Sc./Science/II		9	85			2046	2046	28
1420036 CHANDAI		Female	B. Sc./Science/II	Renewal	9	70				2101	27
1392229 JAGDHAF	RI YADAV	Male	B. A./Arts/II	Renewal	9	Total				51360	690

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tultion and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accept any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seal of the ad of the Institution)

जिला- नलसमपुर (छ. ग.)

· Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: N/7/3952/1/9/82295

Sanction Date: 26/01/2018

Applications Type: Fresh

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1412374 RINA RAVI	Female	B. Sc./Science/I	Fresh	10	300	3000	0	2086	2086	5086
					Total :	3000	0	2086	2086	5086

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Balanopm Date: 10/02/18

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

gory. Oc

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2017 - 18



State: Government of Chhattisgarh

Sanction Number: R/7/3952/1/9/82294

Sanction Date: 26/01/2018

Applications Type: Renewal

Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1178412 BHARAT KUMAR	Male	B. Sc./Science/III	Renewal	9	300	2700	0	2046	2046	4746
					Total:	2700	0	2046	2046	4746

Declaration:

Place: Ballenophy

(Signature & Seal of Head of the Institution) Name (Capital Leters) : शासकीय नदीन महाविद्यालय बलरामप